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Epsolinics Epsilinocs Epsilonics

Recall that a sequence of real numbers is a list indexed by the natural numbers,

a0, a1, a2, a3, . . . , an, . . .

usually denoted by something like {an}. The limit of a sequence {an} is a real number L,
usually denoted by lim

n→∞
an = L, if

for every real number ε > 0, there is some N ∈ N,
such that for every n ≥ N , |an − L| < ε,

i.e. ∀ε > 0∃N ∈ N∀n ∈ N : |an − L| < ε.

1. Suppose {an} is a sequence such that lim
n→∞

an = L 6= 0. Show that if bn =
1

an
, then

lim
n→∞

bn = lim
n→∞

1

an
=

1

L
. [10]


